dcygjet / drn3jet [pb/GeV]

Ratio to DO

10

1960 GeV ppbar Jets
El I I I | I I I | I I I | I E
- 3-jet mass (D0 p__ > 40 GeV, |y| < 0.8) ]
- = DO BN -
— --3-- Herwig 7.2.0 default —
—— Pythia 8.165 default 7
= ¢ Sherpa 1.2.2p default 3 =
_l | | | | | | | | | | | | | I_
:I ' ' ' [ ' ' ' [ ' ' ' I ' ':
£ B3

kﬂ\‘_‘//\;/*/% j+ ]
- ) E:EI . Lo B
— JPBi=EEtc = ) EH E} ' T
O Yy | _
A + o
_| B S S | ¢| ’ [
400 600 800 1000

Mgy [GeV]

Rivet 3.1.0, = 5.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


